

District School Board of Pasco County

Bid Recommendation

Bid Title	Lever Locks Maintenance Department		Number of Vendors Notified	135
Bid Number	06-111-LR		Number of Bids Distributed	23
Date Solicited	October 28, 2005		Number of Vendors Responding	13
Date Opened	December 2, 2005		Number of Vendors Not Bidding	0
Date Board Presentation	March 7, 2006		Number of Vendors Bidding	13
Total Savings	\$35,132.50		Grand Total of Bid	\$82,000.00

Recommendation:

Recommend acceptance of bid from Florida Detention Systems, Inc., as noted on attached bid tabulation sheet, as lowest and best, responsive and responsible “all-or-none” bid meeting written specifications.

Term of Contract:

This bid is for lever locks “as needed” by the Maintenance Department for use throughout the District. This is a three-year bid renewable annually based upon mutual agreement of both parties. The first contract period shall be effective from March 8, 2006 to December 20, 2006.

Notations and Exceptions:

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

Vincent Minichino, Crew Chief, Maintenance Department

Bids Prepared By:

Laurie Roberts, CPPB, Buyer, Purchasing Department

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: December 2, 2005			Bell's Security Sales, Inc.		Colbert & Cotton, Inc.		E & R Industrial Sales, Inc.	
BID TITLE: Lever Locks			426 Bloomfield Ave.		5413 W. Sligh Ave.		11838 62nd St. N	
BID # 06-111-LR			Bloomfield, NJ 07003-4832		Tampa, FL 33634		Largo, FL 33773	
Board Meeting 3/7/06								
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
L-1	500	Entrance Lock: RH/LH	115.47	57,735.00	113.50	56,750.00	161.28	80,640.00
		Manufacturer / Product Number	Corbin Russwin / CL3351-NZD-626		Corbin Russwin / CL3351-NZD-626		Corbin Russwin / CL3351	
L-2	500	Classroom Lock: RH/LH	115.47	57,735.00	113.50	56,750.00	161.28	80,640.00
		Manufacturer / Product Number	Corbin Russwin / CL3355-NZD-626		Corbin Russwin / CL3355-NZD-626		Corbin Russwin / CL3355	
		TOTAL ALL OR NONE	\$115,470.00		\$113,500.00		\$161,280.00	
*Addition Error								

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: December 2, 2005			Florida Detention Systems, Inc.		Grainger, Inc.		Hughes Supply	
BID TITLE: Lever Locks			1296 SE 31st St.		1820 Tampa East Blvd.		10050 Cash Rd. S #1	
BID # 06-111-LR			Melrose, FL 32666		Tampa, FL 33619		Stafford, TX 77477	
Board Meeting 3/7/06								
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
L-1	500	Entrance Lock: RH/LH	81.00	40,500.00	100.21	50,105.00	169.35	*42,337.50
		Manufacturer / Product Number	Cal-Royal / CGN00		Falcon / T511		Corbin Russwin / CBRCL335NZDB	
							*Should be \$84,375.00	
L-2	500	Classroom Lock: RH/LH	83.00	41,500.00	100.15	50,075.00	169.35	*42,337.50
		Manufacturer / Product Number	Cal-Royal / CGN03		Falcon / T561		Corbin Russwin / CBRCL3355N2DS	
							*Should be \$84,375.00	
		TOTAL ALL OR NONE	\$82,000.00		\$100,180.00		*84,675.00	
							*Should be \$169,350.00	
*Addition Error								

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: December 2, 2005			IDN - Armstrong's, Inc.		Independent Hardware, Inc.		Independent Hardware, Inc.	
BID TITLE: Lever Locks			3589 Broad St.		14 S. Front St.		14 S. Front St.	
BID # 06-111-LR			Chamblee, GA 30341		Philadelphia, PA 19106		Philadelphia, PA 19106	
Board Meeting 3/7/06							Alternate	
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
L-1	500	Entrance Lock: RH/LH	115.69	57,845.00	113.16	56,580.00	89.00	44,500.00
		Manufacturer / Product Number	Corbin Russwin / CL3351-NZD-626		Corbin / CL3351		Falcon / T511-Dane-D1 KWY	
L-2	500	Classroom Lock: RH/LH	115.69	57,845.00	113.16	56,580.00	89.00	44,500.00
		Manufacturer / Product Number	Corbin Russwin / CL3355-NZD-626		Corbin / CL3355		Falcon / T561-Dane-D1 KWY	
TOTAL ALL OR NONE			\$115,690.00		\$113,160.00		\$89,000.00	
*Addition Error								

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: December 2, 2005			Majestic Lock Co., Inc.		Stan's Lock & Key Service, Inc.		Southern Lock & Supply Co.	
BID TITLE: Lever Locks			65 Leliarts Lane		38323 Ninth Ave.		10910 Endeavour Way	
BID # 06-111-LR			Elmwood Park, NJ 07407		Zephyrhills, FL 33542		Largo, FL 33777	
Board Meeting 3/7/06								
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
L-1	500	Entrance Lock: RH/LH	113.75	56,875.00	119.00	59,500.00	113.21	56,605.00
		Manufacturer / Product Number	Corbin / CL3351 N2D		Corbin / CL3351		Corbin Russwin / CL3351-N2D-626	
L-2	500	Classroom Lock: RH/LH	113.75	56,875.00	119.00	59,500.00	113.21	56,605.00
		Manufacturer / Product Number	Corbin / CL3355 N2D		Corbin / CL3355		Corbin Russwin / CL3355-N2D-626	
		TOTAL ALL OR NONE	\$113,750.00		\$119,000.00		\$113,210.00	
*Addition Error								
					Year 2007 - \$123.75			
					Year 2008 - \$133.65			

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: December 2, 2005			Taylor Security & Lock Co., Inc.	
BID TITLE: Lever Locks			8585 Atlas Dr.	
BID # 06-111-LR			Gaithersburg, MD 20877-4186	
Board Meeting 3/7/06				
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE
L-1	500	Entrance Lock: RH/LH	112.25	56,125.00
		Manufacturer / Product Number	Corbin Russwin / CL3351-N2D-626	
L-2	500	Classroom Lock: RH/LH	112.25	56,125.00
		Manufacturer / Product Number	Corbin Russwin / CL3355-N2D-626	
		TOTAL ALL OR NONE	\$112,250.00	
*Addition Error				